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THOE =] 0 59 BT RDEAT49FE 15} [ik:akle HEE 74,800/ 0.0%
THSE = Iy 0 28 BIFTIFERITH10%EG6A e 2E/E 73,4001/ m 0.5%
THOE =] 0 38 =ETE/IST B85&F ikcaxle 2 E 71,6001/ n 0.3%
THSE = Iy 0 41 B IR TR ZEET 1 79% e 2x/E 66,000/ m 0.3%
THOE =] 0 45 BT EAMET 100 1 1k HEE 65,300/ 0.6%
THSE = Iy 0 13 BT S E T 1324%6 e 2E/E 64,9001/ m 0.6%
THOE =] 0 35 BIRFTH/NMABERITETI1%E16 [ik:akle HEE 63,100/ n 0.6%
THSE = Iy 0 29 BT SRS E4107%7 e ®HEE 62,8001/ m 0.0%
THOE =] 0 15 BT —DOERT77E] [ik:akle EE 62,600/ n 0.0%
THSE = Iy 0 42 Bty SR 338%2 kRl HEE 62,5001/ m 0.3%
THOE =] 0 19 BT ARZEEHEITH27%ES [ik:akle HEE 61,200/ 1.2%
THSE = I 0 51 BT T RAT222%2 kRl 2E/E 59,900/ m 0.0%
THOE =] 0 5 H IR T AL 5 ET /85889 % ikcanle EE 58,100/ nt 0.2%
THSE = Iy 0 36 =HIRTIE3T H94% kRl EE 57,5001/ m 1.1%
THOE =] 0 46 BT AR 351 3532%6 [ik:akle HEE 56,800/ 0.5%
THSE = Iy 0 31 HIRTANFAE2T H4378%32 e EE 56,700/ m 1.1%
THOE =] 0 63 BIRRTEBSHRE2T H29%3 [ik:akle HEE 56,100/ 0.9%
THSE = Iy 0 60 =IFMEACT B13%2454 e EE 55,600/ m 0.0%
THOE =] 0 53 = IR 5 ECET IR ] B 15203% 15 [ik:akle HEE 54,400/ 0.9%
THSE = I 0 3 BIFHRAE2T H1697%&4245 kRl EE 53,5001/ 0.4%
THOE =] 0 30 BT A FIEAFHEITS009%3 [ik:akle 2Ef= 51,500/ 0.0%
THSE = Iy 0 24 =2iRTmAR7EST B300&51 kRl EE 51,4001/ m 1.0%
THOE =] 0 12 = IRs T BT s SR T S SR /R 21459 [ik:akle HEE 51,1001/ n 0.0%
THSE = Iy 0 32 IR EIERT 18311 1t 1EE 51,1001/ m 0.6%
THOE =] 0 23 BT AFEAFEEI039% ikcaxle EE 51,0001/ n 0.0%
THSE = Iy 0 2 BETET BT =/RHEG692%10 kRl 2 E 47,400/ nt 0.9%
THOE =] 0 17 BT FEARESE3TH15%E3 [ik:akle HEE 46,0001/ nt 0.4%
THSE = I 0 1 BERHAFEZAFHFTF7338%F19 kRl HEE 44,100/ nt 0.0%
THOE =] 0 52 BIFTERETEF2THS51%2 [ik:akle 2 E 43,6001/ nt 0.0%
THSE = Iy 0 47 BIRTRSE2T B497% kRl ®EE 43,200/ nt 0.0%
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THOE = I 0 57 = Ry T BT e R T BT R4 276 %676 BEI=S _ 33,200/ m -1.5%
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THSE = Iy 0 64 BT HESHEER2T /&S 2l hE 19,8001/t 0.0%
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THOSE IR 5 4 BEHHRECTHE kRl GHES 209,000/ m -0.9%
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THSE = Iy 5 6 BIETEBR2T B17F5 kRl [SES 139,000/ nt 0.7%
THOE =] 5 27 BT EEERE2T B3% 1 [ik:akle EES 121,000/ nt #ax
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SH5E FERE 0 2 FERE T _EFF AT 106331 X _ 6,700/ m 0.0%
SFN54E SER 3 1 SR RIGET 7 &1 Mt MEE 14,300/ m -0.7%
SH5E FERE 5 4 EFETRRT2 T B 1%&2 Mt Pl s 63,7001/ m -1.2%
Srr iR FE[E 5 1 FEFTHSERT2 T H89%3 1t HES 62,600MH/m -1.1%
SH5E FEfE 5 5 FERETAERTT T B5%ES8 hiik:ag(e EES 47600M/nt 0.0%
SFIhE FEFH 5 6 ERTHAEORI2T B805%3 1t plinz=3] 475008/ m 0.0%
SH5E FERE 5 9 FER T EFH T4 854 Mk EES 45,600M/m -0.9%
Srr iR FE[H 5 3 SERE T ARFIET1 T B 18%8 1t plinz=] 44 000/ m 0.0%
SH5E FERE 5 2 ERTH)IERI3TH16%E Mk Pl s 42,100M/m -0.5%
SFN54E SET 5 7 FERAEIARTI11E10 Mt plins| 41,9008/ m 0.0%
SH5E R 5 8 ERTFETZET5216%2 Mt 1EE 39,600/ m peak=
SFN54E SET 5 10 FER T KFIET239% 144 Mt T 38,800/t -0.5%
SH5E S 9 1 RERE T B AFRT4258% 1 Mt T 25,1001/ m -0.4%
9 2 FE ) T R BT 394 2 1 1t I% 13,500/ m 0.0%
0 1 HeEgm T a1 T H10%ES JEAR S| eSS 25100/ m 0.0%
0 3 HEMmEHE1THE1523%1 JE#R3| 2XE 21,800/ m 0.0%
0 2 BEmekES T H4092% JE#R 1EE 19,400M/m 0.0%
0 5 H = i B AT A R 2. 5693%F 27 JERRE| 2R E 16,500/ m -0.6%
0 4 HeEm e P FH2 T22372%5 ER ] xR 15,7008/ nf -2.5%
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SH5E INER 0 2 INRTTHEE F— A 422261F4 JE#RB| 1EE 16,800/ m -0.6%
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THOE Hm 0 8 HRMmKERCT H47% [ik:akle EE 34,400/ n 0.9%
THOE Hm 0 1 Hrma 4R 1 TH5%2 kRl 2x/E 33,700/ m 0.0%
THOE Hm 0 5 HEmERETITEI16EAN [ik:akle 2 E 33,400/ n 0.6%
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THSE Hm 0 2 ARmERAI2T H78% kRl HhE 27,9001/ m 0.0%
THOE Hm 0 7 HRAMAFEaFHRERCII5E29 [ik:akle EE 26,900/ n 0.4%
THOE H @ 0 10 HamhyErr 1 T B74% 1454 e EE 26,5001/ m 0.0%
THOE Hm 0 11 HREMKFMAFFRITI283%F87 [ik:akle EE 25,300/ 1.2%
THSE Hm 0 13 HamAFHMLFFH/EO31E/ kRl 2x/E 22,900/ m 0.0%
THOE Hm 0 4 HamAFHMEFREC22%E17 [ik:akle 2 E 20,300/ nt 0.0%
THSE Hm 0 12 HRAMKFEEFHEC/32F 14 EEIES _ 12,400/ nt 0.0%
THOE Hm 5 1 AR LA 10738% 1444 ikcanle EES 62,900/ -0.9%
THSE Hm 5 3 HrRmALET1 T B24%&2454 kRl ;] 48,700/ nt -0.6%
THOE Hm 5 4 AmmE/RE 1T B31%E45 [ik:akle GES 38,500/ nt 0.0%
THSE Hm 5 2 AR IRE4T B125%4} kRl ;] 36,0001/ 0.0%
THOE Hm 5 5 HamAFHMEFARI6391%T [ik:akle #T 33,8001/ m 0.0%
THSE Hm 5 6 AR RKERTH42%E kRl BT 30,800/ m -0.3%
THOE Hm 9 3 Hemer®E]1TH34% ikcanle BT 29,5001/ m EEE
THSE Hm 9 1 HRAMKFHAFFRIIC]HE kRl I 19,100/ nt -0.5%
THOE Hm 9 2 HamAFHMEFAR16337F] [ik:akle I 15,7001/ ni 0.0%
THSE ER ] 0 3 FEMFE2THIES JEARBI ®E 11,000/ nt -2.7%
THOE ER 0 2 BRENAFRAFREIS24EF25 JE#RE] EE 11,0001/ nf 0.0%
THSE ER ] 0 1 BRI AFRAAFEE424%E1 JEARBI 2E/E 10,600/ nt 0.0%
THOE ER 5 1 EENAFAEAFERS/40E] JE#RE] EES 23,400/ n -1.3%
5 2 FEMFEITHIE4 JEARBI EEE 19,200/ nt -4.0%
0 1 FRER T EEMERT1 T B30&2 JE#RE] EE 25,500/ 0.0%
0 2 FEE T RAF=EFHFP2895%15 JEARBI HEE 19,300/ nt 0.0%
0 3 AT AFIRBRFKEICTE2SH JE#RE] &EE 15,600/ nf 0.0%
5 1 FEER T /NEFIR1 T HO1H JEARBI [SES 30,100/ m -0.7%
THOE AUD 0 1 AVDHKRFETFHEA7/4%E2 JE#RE] 2Ef= 11,400/ nt -1.7%
THSE AUVD 0 2 AVDOTKFREFAMFE1403%F7 JEARBI ®HEE 9,500/ m -2.1%
THOE AUD 0 3 AUVDHKRFKAFEEHIC2E2 JE#RE] EE 8,900M/ -1.1%
THOE AUVD 5 1 AVDOHKRFRIIF) IRET632%&5 JEARBI ;s 18,100/ nt -2.2%
THOE =i 0 1 EREEB =R AFENFEA2983%F13 JE#RE] EE 16,5001/ nf 0.0%
THSE = 5 1 LRI = BT A FHEILFRIE3475%F7 JEARBI ;] 20,0001/ m -0.5%
THOE [ 0 1 PR e AFREF LA B333%F4 JE#RE EE 11,6001/ nf -3.3%
THSE =R 0 2 AR R AFEEFR/HO2107%F145} JEARBI (R 4,800/ m -2.0%
THOE [ 5 1 PR AFREF L KI5867%2 JE#RE] B 13,5001/ nf -4.3%
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THSE = Iy 0 25 BERTHELFEAITHSFRE#20732%21 kRl EE 42,400/ nt 1.0%
THOE =] 0 24 =M AR EST BH300%51 [ik:akle HEE 51,400/ n 1.0%
THSE = I 0 10 =IFTAIR3T H33%F e 2 E 110,000/ nt 0.9%
THOE =] 0 2 BIFHE7 BT =RHG692%10 [ik:akle 2 E 47,4001/ ni 0.9%
THSE = Iy 0 11 BRTHARETE4TE172% e EE 42,800/ nt 0.9%
THOE =] 0 53 = IR 5 ECET IR F i B 15203% 15 [ik:akle HEE 54,400/ 0.9%
THSE = Iy 0 63 BIRHEBER2T H29%3 e EE 56,1001/ m 0.9%
THOE =] 0 9 BIFHRB1ITEHI109% ikcanle 2 E 92,200/ n 0.7%
THSE = Iy 0 50 =EiBTEK2T BH88FS e 2E/E 92,800/ m 0.7%
THOE =] 0 35 BIRFTH/NMABERITETI1%E16 [ik:akle HEE 63,100/ n 0.6%
THSE = Iy 0 13 BT S E T 1324%6 e 2E/E 64,900/ m 0.6%
THOE =] 0 32 BTN IR 1811 Mk 1EE 51,100/ nt 0.6%
THSE = Iy 0 45 B IR T EEME 100% 1 kRl EE 65,300/ m 0.6%
THOE =] 0 28 BIFTIFRITH10%E6N [ik:akle 2xf= 73,400/ 0.5%
THSE = I 0 46 =I5 KIRE B 151 3532%6 kRl EE 56,800/ m 0.5%
THOE =] 0 3 BIBTRARE2T BH1697%F424+ [ik:akle EE 53,500/ nt 0.4%
THSE = Iy 0 17 BiEHMFEAESRE3T B15%3 kRl EE 46,000/ nt 0.4%
THOE =] 0 38 =ETE/IST B85&F ikcaxle 2 E 71,600/ n 0.3%
THSE = Iy 0 41 B TKZEET 1 79% e 2E/E 66,000/ m 0.3%
THOE =] 0 42 BTty SHr338%2 [ik:akle EE 62,500/ 0.3%
THSE = Iy 0 16 = TIE)I[HT150%3 e 2x/E 84,300/ m 0.2%
THOE =] 0 5 B IR T AL 5 ET /N8 5889 % ikcaxle EE 58,100/ nt 0.2%
THSE = I 0 29 BT SRS E4107E7 kRl ®HEE 62,800/ m 0.0%
THOE =] 0 62 B IR TR F A S FH7:84530F405} [ik:akle HEE 41,8001/t 0.0%
THSE = Iy 0 51 BT T RAT222%2 kRl 2E/E 59,900/ m 0.0%
THOE =] 0 54 = IR B R ET AR FH T 487%3 [ik:akle EE 36,800/ n 0.0%
THSE = Iy 0 47 BIRTRE2T B497% kRl ®HEE 43,200/ nt 0.0%
THOE =] 0 64 BT HAFHERER2T H7%E4 JE#RE] hE 19,800/ nt 0.0%
THSE = Iy 0 8 BIBTRIAT T H202%2 kRl 2E/E 79,400/ m 0.0%
THOE =] 0 7 EIBTEES2T H154%3 [ik:akle 2 E 75,000/ 0.0%
THSE = I 0 60 =iFHEACT B13%244 e EE 55,600/ m 0.0%
THOE =] 0 15 BT —DOERT77E] [ik:akle EE 62,600/ n 0.0%
THSE = Iy 0 52 BIETERETIEF2T BH51%2 kRl 2 E 43,600/ nt 0.0%
THOE =] 0 30 BT AFIEAFHEITS009%3 1k 2xf= 51,500/ n 0.0%
THSE = Iy 0 12 = IR T B R SR T S R /R 21459 kRl EE 51,1001/ m 0.0%
THOE =] 0 23 BT AFEAFEEI039%F ikcaxle EE 51,0001/ n 0.0%
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THOE =] 0 1 BT AFEZAFHFT7338%F19 [ik:akle EE 44,1001/t 0.0%
THSE = I 0 48 BT e FETREST H4%E4 e 2 E 21,7001/ m 0.0%
THOE =] 0 26 BT RFRREFHEILT1006E25 [ik:akle HEE 31,600/ n 0.0%
THOE = I 0 20 BT ELRETTHEFI)IEI14123%36 e ®HEE 28,700/ m 0.0%
THOE =] 0 18 B IR T T JRET E A EFHTMET 1892% [ik:akle EE 22,800/ n 0.0%
THSE = Iy 0 27 =BT ESE3T H49% kRl 2E/E 21,8001/ m 0.0%
THOE =] 0 37 = IR 5 EUHT AR PR/ B 53393 3 X _ 21,3001/ 0.0%
THSE = I 0 6 BT XFRIEFAEE490ES & X _ 18,400/ nt 0.0%
THOE =] 0 59 BT RDEAT49FE 15} [ik:akle HEE 74,800/ n 0.0%
THSE = Iy 0 39 B £ RATFE L BRI R @ 7913820 #E A _ 14,000/ nt 0.0%
THOE =] 0 21 BIRTELFRAITHEFRREIT161E] X _ 13,1001/ nf 0.0%
THSE = Iy 0 22 B I 7 A £ SR BT R _E BRI P 1L IR 96 25 % EEIES _ 11,300/ nt 0.0%
THOE =] 0 34 =I5 i F /N B F R H2559% X _ 10,0001/ nf 0.0%
THSE = Iy 0 43 BT AL 5 AT F7:85450%F 55 e TEE 36,300/ m 0.0%
THOE =] 0 56 BT AFREFFTFR7IFI225%F2 X _ 20,900/ n 0.0%
THSE = Iy 0 58 BT AFIERFAERS F383%2 EEIES _ 16,900/ nt 0.0%
THOE =] 0 55 BT AFEREFFESILI4TIET X _ 20,500/ nt -0.5%
THSE = Iy 0 49 BT = MR NI TR IE2785% 1 kRl HEE 17,6001/ -0.6%
THOE =] 0 33 BT AFRIFRIEIS7/2%E19 [ik:akle 2 E 37,300/ n -0.8%
THSE = I 0 40 = IR HEF T IR R 3758% 1044 ElaEl HEE 15,6001/ -1.3%
THOE =] 0 4 BETHBEFE/REF2815%5 JE#RE] EE 21,300/ nt -1.4%
THSE = I 0 57 = Ry T B2 R T BT 4276 %676 BEI=S _ 33,2001/ m -1.5%
THOE =] 5 27 BT EEERE2T B3% 1 [ik:akle EES 121,000/ nt #ax
THSE = Iy 5 301 BT ERET 11 mH1E i 105,000/ nt X
THOE =] 5 8 BT EIREREIT B6%&9 [ik:akle EE 105,000/ nt 1.0%
THSE = Iy 5 23 =HIRFHERE2T H63&E2454 e BT 98,300/ m 0.8%
THOE =] 5 6 BIFTBEBE2T B17%F45 [ik:akle EES 139,000/ nt 0.7%
THSE IR 5 2 BEiRTeFRBITH22%145} kRl GHES 198,000M/m 0.0%
THOE =] 5 1 BiETEERE3T B59% ikcanle EES 286,000/ nt 0.0%
THSE = Iy 5 5 HIRTAE4T HO6E kRl GHES 82,0001/ 0.0%
THOE =] 5 16 B L L RAT A FRIE2711%&16 [ik:akle EEE 43,1001/t 0.0%
THSE = Iy 5 25 BIBTAEIT B14%F5 kRl BT 93,300/ m 0.0%
THOE =] 5 7 BIFHEMRIT H53% [ik:akle E 120,000/ nt 0.0%
THSE = Iy 5 14 BIFTIFAE1ITHS1E4 kRl GHES 100,000/ nt 0.0%
THOE =] 5 26 BIETMAFEAF/INMES398F 35} [ik:akle P 78,500/ 0.0%
THOE = I 5 20 BIHIE7 BETIIET1073% 14} kRl BT 69,800/ m 0.0%
THOE =] 5 19 BIFTERESRF T/ FF2823%12 #Et o _ 20,700/ nt 0.0%
THSE = Iy 5 18 BIETERETIEF2T HO5% kRl EEE 55,000/t 0.0%
THOE =] 5 21 BT AFEAFRHO4488F4N [ik:akle BT 62,100/ m 0.0%
THSE = I 5 3 BT ERIT B222% 14} kRl i 92,800/ m 0.0%
THOE =] 5 13 BBTmAIITHIE [ik:akle T 100,000/ nt 0.0%
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THOE =] 5 12 BIFHTHANE2T BH229%454 ikcaxle EES 70,500/ 0.0%
RELIRE:S IR 5 24 =T e/ HET160%1 Mk ET 65,0001/ m 0.0%
THOE =] 5 17 BIGHERE A S|l EH294 %45} ikcaxle PN 49,4001/ nt 0.0%
THOE = I 5 9 BT AFEZAFIMT2248% 145} kRl ;] 50,7001/t -0.2%
THOE =] 5 22 BT RKSHTR/A11445% 109 X _ 65,000/ -0.5%
THOSE IR 5 4 BEHHRECTHE kRl GHES 209,000/ m -0.9%
THOE =] 5 11 =i i S AART 124314} ikcaxle SES 110,000/ nt -0.9%
THSE = I 5 10 BIR T = FE AR RN EI5251F kRl ;s 30,300M/m -1.0%
THOE =] 5 15 = IR P ETF h JR R 285532 JE#RE] a5 23,500/ n -2.9%
THOE IR 9 2 BEHAE2T B17%5% Likckle I 44,600/ m 0.0%
THOE =] 9 3 =R = MET345% ikcanle I 33,400/ nt 0.0%
THSE = Iy 9 1 BIRHAFRIFRIEI7T9ES kRl I 21,2001/ m -0.5%
THOE EBI 0 4 HymE2T B11E9 JE#RE] T 25,500/ 1.2%
THSE i 0 6 T EE84514%F2 JEARBI EE 26,7001/ m 0.8%
THOE EB 0 1 I R RAT2009% 1 JE#RE] EE 34,900/ n 0.0%
THSE # 0 3 i = H R R 25 8% 4} JEARBI HhE 25,700/ m 0.0%
THOE EB 0 5 iy — HE62515% JE#RE] & 22,0001/ n 0.0%
THSE # 0 8 T =/RIT2997%4 JEARBI hE 18,500/ nt 0.0%
THOE EB 0 14 IR ESFREH3017E244 JE#RE] 2xf= 6,200/ nt 0.0%
THSE # 0 2 i EER2099% 1562 JEARBI EE 22,400/ m -0.4%
THOE EB 0 7 M TIIERATH10510%F JE#RE] & 20,900/ nt -0.5%
THSE i 0 11 T AT RS F R AI477E JE#RE] Ih&E 11,9001/ -0.8%
TS i 0 12 I S WET KHFF - AR2209%2 JE#RE] EE 7,700/ -1.3%
THOSE # I 0 13 L AT LA M2 £5353874% 1 JEARBI 2E/E 7,600/ m -1.3%
THOE B 0 10 L2 AR TEARFHEIR2214%2 JE#RE] 2 E 7,000// -1.4%
THSE i 0 15 iR KL HFHH168%F4 izl ®HEE 10,1001/t -1.9%
THOE EB 0 9 I AR EARFELR2421%19 JE#RE] EE 9,900M/ nt -2.0%
THSE # 5 8 i mAL/RET 1463% 1 JEARBI ;] 55,1001/t fREFRE
THOE EBI 5 201 i # AL ET6420% 1 44 JE#RE] BT 67,5600/ m 0.0%
THSE # 5 1 g BT 2424 %4} JE#RE GHES 61,6001/ m 0.0%
THOE EBI 5 2 AL S BT5006%1 4+ JE#RE] 2Ef= 39,400/ nt 0.0%
THSE # 5 7 g mILBETPESFREH3102%F19 JEARBI 2E/E 11,800/ nt 0.0%
THOE EB 5 3 i = IR TR E A HT 12473589 JE#RE] a5 12,8001/ nf -2.3%
THSE # 5 6 T = AT R S FAIE2704% 744 JEARBI ;] 15,800/ nt -2.5%
THOE EB 5 5 Lz AR TEAFRE2074%13 JE#RE] P 12,0001/ nf -4.0%
THOE 3iE [iE] 0 16 MER T = X ILRT515%7 kRl 2 E 32,800/ m 1.2%
THOE SiEfif) 0 8 EMTR—7 2T BH6&EF105 [ik:akle EE 33,700/ nt 0.9%
THSE 3iE [iE] 0 12 EMTHEBE2T BH9%E2 kRl 2 E 54,1001/ m 0.4%
THOE SiE i) 0 14 ERATEMET6T H5410%1 1k 2 E 40,0001/ nt 0.3%
THSE 3iE [iE] 0 13 SERE T ERET 1T B884%3 kRl 2 E 38,600/ m 0.3%
THOE SiE i) 0 11 EMTAERGT B1953%3 [ik:akle 2 E 33,200/ nt 0.3%
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Srriileg:d FE[T 0 10 FER AL AT 396 1t 1EE 20,000/ m 0.0%
SH5E FEfE 0 1 IEMTRT E2T H634%&77 hiik:ag(e EE 25,700/ m 0.0%
SFN54E SET 0 21 FERA AR/ NEE 3342454 Mt MEE 52,0001/ m 0.0%
SH5E FEfE 0 22 FERF T HAE3T B 1078444 kil 1EE 50,000/ m 0.0%
Srr iR FE[T 0 15 JERE AR Er5253% 344 1t 1EE 33,300MH/m 0.0%
SH5E FEfE 0 20 FEFTEER 1T B2179%40 hiik:ag(e 2rhE 20,5001/ m 0.0%
Srr iR FE[F 0 2 FER T _ERFZET1063%F1 FAX _ 6,700/ m 0.0%
SH5E R 0 4 FERTAFET2732%5 Mt 1EE 24,5001/ m 0.0%
Srr iR FE[F 0 3 FERE T R ET2288%4 1t 1EE 24.900M/m -0.4%
SH5E FEfE 0 6 IEMTRIERI3T H4967%&8 hiik:ag(e 1EE 23,000/ m -0.4%
Srr iR FE[E 0 5 FER ML/ NER 373927 1t 1EE 41,600/ m -0.5%
SEr IRE:S FEfE 0 17 FER T SHRT3996% 2 hiik:ag(e 2rhE 19,4008/ i -0.5%
Srr iR FE[H 0 7 SERE TRk E5 T B8&E 104} 1t 2R E 34,700/ m -0.6%
SH5E FERE 0 19 HEFTH R FET6453 FX _ 17,7001/ m -0.6%
SFN54E SER 0 18 FER T =78/7836%F 14} EEI=S _ 15,200/ m -0.7%
SH5E FEfE 0 9 FEFEH L4 B074T B4290%1 hiik:ag(e 1EE 21,000/ m -0.9%
SFN54E SER 3 1 SR RIGET 7 &1 Mt MEE 14,300/ m -0.7%
SH5E FERE 5 8 ERTFETZET5216%2 Mt 1EE 39,600/ m peak=
Srr iR FE[E 5 6 ERTHAEOR2T BH805%3 1t plinz=i] 475008/ m 0.0%
SH5E FERE 5 7 ERTEIART11E10 Mt Pl s 41,900M/m 0.0%
SFIhE FEFH 5 3 FERE T ARFIET1 T B 18%8 1t plinz=3] 44 000/ m 0.0%
SH5E FEfE 5 5 SERETAERTT T B5%S8 hiik:ag(e EES 47,600M/nt 0.0%
SFN54E SER 5 10 FER T KFIET239% 144 Mt T 38,8001/t -0.5%
SH5E FERE 5 2 ERTH)IERI3TH16%E Mk Pl s 42,100M/m -0.5%
SFN54E SET 5 9 T ES ET4 &84} Mt EES 456008/ m -0.9%
SH5E FEfE 5 1 JEM T =/T2T H89%E3 hiik:ag(e EES 62,6001/ m -1.1%
Srr iR FE[T 5 4 EFETHEERT2 T B 132 1t plinz=] 63,700MH/m -1.2%
SH5E FEfE 9 2 FERTHAREET394%E 1 hiik:ag(e I= 13,500M/nt 0.0%
9 1 FERA T B ATRT4258%F1 1t T 25,100/ m -0.4%
0 1 HeEgm T a1 T H10%ES JEAR S| eSS 25100/ m 0.0%
0 3 HEMmEHE1THE1523%1 JE#R3| 2XE 21,800/ m 0.0%
0 2 BEmekES T H4092% JE#R 1EE 19,400M/m 0.0%
0 5 H = i B AT A R 2. 5693%F 27 JERRE| 2R E 16,500/ m -0.6%
0 4 HeEm e P FH2 T22372%5 ER ] xR 15,7008/ nf -2.5%
5 1 HEma®B3TE1E2 JE#Z3| HES 40,000m/m -0.2%
5 2 HEm ekt T B 3949F 44 JERRE| EES 24100/ m -1.6%
5 3 B s BT R AT 2& 75} JE#Z3| plins| 17,9008/ m -3.2%
SH5E INER 0 2 INRTTHEE F— A 422261F4 JE#RB| 1EE 16,800/ m -0.6%
SFN54E INFR 0 3 INKRTK TR B F /KR 1061 &S E|S5E] 2R E 14,9001/ m -0.7%
SH5E INER 0 1 INKTT R /R 1270%2 JE#RB| EE 14,9001/ m -0.7%
Srriileg:d INFR 5 2 NIRRT B e/ JR 122439 JE#RS| FE 21,900M/m -0.9%
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THOE INFR 5 1 NS FR AR 1903%FA JE#RE] EES 34,300/ nt -1.2%
THSE Hm 0 3 HEmAFHMALFFNRA2761EF1945} kRl 2E/E 29,700/ m 1.4%
THOE Hm 0 11 HREMAKFMAFFRI283%F87 [ik:akle EE 25,300/ 1.2%
THOE Hm 0 8 AR RKERGCT H47% kRl EE 34,400/ m 0.9%
THOE Hm 0 5 HEmERETITEI16EAN [ik:akle 2 E 33,400/ n 0.6%
THSE Hm 0 9 BArm&k1 T B53%Fs kRl TE 33,400/ m 0.6%
THOE Hm 0 7 HRAMAFEaFHRERCII5E29 [ik:akle EE 26,900/ n 0.4%
THSE Hm 0 6 BrRmALEr6602&F 17 kRl THEE 36,400/ m 0.3%
THOE Hm 0 1 Hm AR 1T H5%E2 ik:akle 2xfE 33,700/ n 0.0%
THSE Hm 0 2 ARmERAI2T H78% kRl HhE 27,9001/ m 0.0%
THOE Hm 0 10 AR mIEE 1T B74% 14} [ik:akle HEE 26,500/ 0.0%
THSE Hm 0 13 HamAFHMLFFH/EO31E/ kRl 2x/E 22,900/ m 0.0%
THOE Hm 0 4 HamAFHMEFREC22%E17 [ik:akle 2 E 20,300/ nt 0.0%
THSE Hm 0 12 HRAMKFEEFHEC/32F 14 EEIES _ 12,400/ nt 0.0%
THOE Hm 5 4 Amm&E/RE 1T B31%E45 [ik:akle GES 38,500/ nt 0.0%
THSE Hm 5 2 AR IRE4T B125%4} kRl ;] 36,000/ m 0.0%
THOE Hm 5 5 HamAFHMEFARI6391%] [ik:akle #T 33,800/ m 0.0%
THSE Hm 5 6 AR RKERTTH42% kRl BT 30,800/ m -0.3%
THOE Hm 5 3 ArRmALET1 T B24%&2454 [ik:akle T 48,7001/ ni -0.6%
THSE Hm 5 1 BRI LET10738% 144+ kRl (SES 62,900/ m -0.9%
THOE Hm 9 3 Hemer®E]1TH34% ikcanle BT 29,5001/ m EEE
THSE Hm 9 2 HamAFHIMEFAR16337&F] kRl I% 15,700/ nt 0.0%
THOE Hm 9 1 HRAMKFHAFFRIIC/HE ikcanle I% 19,1001/ nf -0.5%
THSE ER ] 0 2 BETRFAELFRRI24EF25} JEARBI ®HEE 11,000/ nt 0.0%
THOE ER ] 0 1 BRENAFRAAFIE424%E1 JE#RE] 2xf= 10,600/ nf 0.0%
THSE ER ] 0 3 FEMFE2THIES JEARBI ®E 11,000/ nt -2.7%
THOE ER ] 5 1 EENAFAEAFERS/40E] JE#RE] EES 23,400/ n -1.3%
5 2 FEMFEITHIE4 JEARBI EEE 19,200/ nt -4.0%
0 1 FRER T EEMERT1 T B30&2 JE#RE] EE 25,500/ 0.0%
0 2 FEE T RAF=EFHFP2895%15 JEARBI HEE 19,300/ nt 0.0%
0 3 AT AFIRBRFKEICTE2SH JE#RE] &EE 15,600/ nf 0.0%
5 1 FEER T /NEFIR1 T HO1H JEARBI [SES 30,100/ m -0.7%
THOE AUD 0 3 AUVDHKRFKAFEEHIC2E2 JE#RE] EE 8,900/ / -1.1%
THSE AUVD 0 1 AV RFETRFEH74%E2 JEARBI 2E/E 11,4001/t -1.7%
THOE AUD 0 2 AV ARFRERAFAME1403%7 JE#RE] EE 9,600/ -2.1%
THOE AUVD 5 1 AVDOHKRFRIIF) IRET632%&5 JEARBI ;s 18,100/ nt -2.2%
THOE = 0 1 EREEB =R AFENFEA2983%F13 JE#RE] EE 16,5001/ nf 0.0%
THSE = 5 1 LRI = BT A FHEILFRIE3475%F7 JEARBI ;] 20,0001/ m -0.5%
THOE [ 0 2 P EEREMAFREFR/HO2107F 145 JE#RE] EE 4,800/ -2.0%
THSE =R 0 1 ARl R AFAET L XE333%4 JEARBI ®HEE 11,600/ nt -3.3%
THOE [ 5 1 PR AFREF L KI5867%2 JE#RE] B 13,5001/ nf -4.3%
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SFN54E EE 0 1 HHEEHESI AT AEFEM/ F4023F2 L 12 23,0003/t 0.0%
SH5E EE 0 3 REENEEI AT ABEFRIME2313%F FX - 7,500/ m 0.0%
SHN54E B 0 2 HHEENEE AT AR TR M1337E WL 2 19,000/ m -0.5%
SH5E EE 5 1 HHREMEEMAFETAEFTE/F4598%5 1t =] 32,200/ m -1.5%
SH54E 1% 0 1 BB AT EETIRT //3%2 JE483| R 14,4008/ m 0.0%
SH64 1% 0 2 BB BRI K TR R RS 1 53F 1 A JE423| 1R 11,2008/ m 0.0%
SH5E i 5 1 BB RAT KF R EF AITT488%F94} JERRE| plinz=i] 27,200/ m -0.7%
SH54E [SEG) 0 1 RGNS AR X PR = A R850% 1 JEAR S| 1EE 23,7001/ m -0.8%
SHN54E =48 0 2 V50 SRR K P R i O 7 &3 JE483| R 13,100/ m -2.0%
SH5E 5 1 RigE = AT KFidt ==/ \EE1381%3 JEAR S| GE3 34,400/ m -2.0%
SHN54E 0 1 RSEE =R =M1 T H35% Je423| R 19,000/ m 0.0%
SH54E 0 2 RS EN AT L EHFRF%8787%38 JEAR S| 1EE 12,7008/ m 0.0%
SHN54E 5 1 RS =R =R TE14% EaCE] o) 23,4003/ —1.7%
SH64 I 0 2 520 || FERT AT )R 7548 19405%6 JE423| 1R 9,000/, ni 0.0%
SFN54E Ik 0 1 VS0 REET AT ) || 5 Hi7k B 13558% 19 Je483| 2R 10,400M/ i -1.0%
SH64 I 5 1 2520 | BT A S R EFI 237 2B 45) Ea e Vi) 20,900/ / ~0.9%
SH54E e 0 1 S ERER R AT AL T H BIAF R 1183 % 1 Je483| 2R 10,900/ m -0.9%
SH64 e 0 2 S ERER 2T KT )| L T #0 E R AT 4897 &4 JE423| 1R 12,7008/ m ~2.3%
SFN54E ] 0 1 HEEF) BT E B4 T B 1568 WL 2 24,000/ 0.0%
SH64 F)I| 0 2 HEIMERFA )BT EET2 T B9&4 1L 2ER 22,200/ 0.0%
SHN54E Al 0 4 HEFERFA )BT A 7P| Bk T H B 313884 & X . 6,800 /i 0.0%
SH64 )| 0 3 HEERFA )BT KT P9I R T FES764% 141 L 2R 15,100/, i ~1.3%
SFN54E Il 5 1 HEIFFEDFT) | BTS2 ET2 T B 3% 4 WL i 24,200/ 0.0%
y 0 1 OGBS TRIAT=MAFF= /51159882 JEfR A 1 13,400/ i 0.0%
SFN54E 0 2 FEAKE S TR AT = AHTEIF6376%3 Je483| 1R 10,600M/m 0.0%




